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 Receive state array in EGPRS starting with BSN=V(Q) is not consistently stated everywhere. 
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9.1.7.2
Receive state array V(N) in EGPRS TBF 

Each RLC endpoint receiver shall have an associated receive state array V(N). V(N) is an array of SNS elements indicating the receive status of WS  RLC data blocks that are supposed to follow the block BSN=V(Q)-1. The array is indexed relative to the receive window state variable V(Q) modulo SNS. When an RLC data block is received with BSN within the active window i.e. such that [ V(Q)£ BSN < V(Q) + WS] modulo SNS, the corresponding element in V(N) is set to the value RECEIVED (the RLC data block has passed FCS). 

If the RLC data block is split over two radio blocks, the element shall be set to the value RECEIVED if and only if both radio blocks have been received. 

When an element in V(N) falls outside of the active window (i.e., [ V(Q) + WS ( BSN < V(Q)] modulo SNS) the element is set to the value INVALID.
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